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1. [r32xio ><81’2x“3'=% ,then value of x is -
)

2

3

C)]

2. “There was never been a musician like
Tansen in India in the last thousands of
years.” Who said this? -,

(1) . Abul Fazl
(2) Badayuni
(3) Firishta
. (4) Nizamuddin Ahmad

‘3.  Who was made-the Chief-Minister of Greater

Rajasthan (30 March, 1949)?
(1) Manikya Lal Verma
(2) Jay Narayan Vyas
(3) Hiralal Shastri
(@) Tikaram Paliwal

4.  The average of scores of 12 students in a test
is 74. The highest score is 79. Then the
minimum possible lowest score must be -

@ 17
2) 18
3@ 19 ] S
@ 20
5.  The author of ‘Hind Swaraj’ is -
{1) Ram Manohar Lohia
(2) Swami Dayanand Saraswati
(3) Mahatma Gandhi
(4) Maulana Abul Kalam Azad

.ISN'uJ-M.-n

6. Among the following buildings, which ones
are built by the Mughal Emperor Babar?
(@  Kabuli Bagh Masjid (Panipat)
(b)  Panch Mahal (Delhi) '
(c) Jaina Masjid (Sambhal)
{d) Jama Masjid (Hisar)

afy 325"1°x812x'3=% 21,91 x BT 99 & —
1)
@y
()]
”(4)

-l:- N Wsk]=

TR gt ¥ ARG # ?n=r\ﬁ=r ST
_wﬂﬁaﬁﬂq‘é’rgem g e wer?

(1) 3gel Byl

(2): 9EIE v

3) wiRea :

@ FromgEs sEns
qa’q'mw(aomé 1949) T JEIHAT 54
I TATY

(1) wferEene ai

(2) SIGIRMAY AN

(3) BRTene Tl

@ AERM Ui
wlzmzﬁuﬁm‘ﬁmaﬁﬂam

74%1@3?%79%16??{%@%
WIi® BT AieY —

O 17

2) 18

3 -1

@ ,20

g W7 © o E® § —
(1) < H+ER i
(2) O TR A
(3) HaETeT iRl

@ Hiar IgH FHeH IR
=1 TRal § 9§ I IIeE 9} g AR
AR & —
(@)  HIgeN I0T ARG ()
(b) U= HEA ([Reel)
() I ARG (F™)
(@ o ARSR (BER)

T 23 . Be BT W FS WEF TR BT

Select the correct answer using the code
given below - T BT —
(1) ab
1) a,b

(2) ac @ .
3 cd =%
@ b,d @) cd

’ 4 b,d
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7. In which city was Bikaner Lok Parishad 7.
founded in, 19367
(1) Bombay
(2) Calcutta
(3) Madras
(4) Delhi

8. A solid sphere of gold of radius 3 cn is 8.
melted and three spheres are formed. The
radii of two spheres are 1.5 cm and 2 cm. The
radius of third sphere is equal to -

1) 25cm g
2 23cm :
3) 21lcm

4 i8cm

. 9. Whlch of the following two months jin a year 9.
have same calendar?
(1) June and October
(2) April and November
(3) April and July
4) October and December

10. The dimensions of a cuboid are proportional  10.
to 5:3:4. The total suiface area of the cuboid
is 846 cm?. Volume of this cuboid is -
(1) 60cm’
(2) 540 cm®
3) 1620 cm?®
@) 4860 cm®
11. In which state Bedsa village was the centreof 11.
Bhil activities under the leadership of Govind
Giri? ;
. (1) Dungarpur
(2) Banswara
(3) Sirohi
@) Idar
12. What was the capital of founder of Pratihar 12
ruler Harishchandra? )
(1) Jodhpur
(2) Mt Abu
(3) Mandore
4) Merta

PR A6 IRYG- P RIUAT 1936 § fhy
e A g87

1) =3

(2) ol

@) =N

@ feeh ‘

3 4. 9T ¢ W B o Tl B e

AN el TR W §1 S el @ e

159, @ik 294 F .Sy & Broar
R & —

@ 2594

(2) 239

@) 2137

@ 1.8,
o 9y § Feforlaa § 9§ B9 X < 9890 @
PAvS I BRI

(1) S 3R srEE

2) i &R FEER

@) o SiR gors

@) 3TN IR AR
T B B A 5:3:4 @ WA § | wer
BT ol YOI BB 846 T WA, | T
P AEAT & —

1) 605 T qH.

(2) 540 =9 9,

(3) 1620 =9 9.

@ 4860 T T
i< il & g § S il o o=
IS4 Wiig {59 5w ¥ o1

1) $RE ’

@) ST

(3) R

@ T |
TER & Twue sReEg o @
ot or?

(1) SR

(2) ¥IS< ey,

(3) AR

@ W
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13. Inaschool,32students study Maths, 28 study  13. T ¥t #, 32 faemeii wifora, 28 Hifan 3R
Physics and 26 stady Chemistry. If there are 26 TR, I ugd ¥ afs wma ¥ g 40
in total 40 students in the school and all of remest : o .ﬁw‘,
them study at least one of these subjects, what ‘ 3 ﬁ%‘ﬁaﬁ? iﬁﬂfﬁmmg R QE _ qig
is the maximum number of students that ’ b ol P Bl
could have studied all the three subjects? e fael 82

) 2 @ 2 C
2) 4 - B 2 4
3 6 = @3 6
@ 3 ‘ @ s

14. The distribution of marks of 100 students is  14. ~ 100 Renfiai @ il @1 de - wiferd 4
shown in following table, Find the mode of <sitar T & 92 B a5 ST AR —
distribution - '

Marks 50-55 55-60 | 6065 | 65-70 | 70-75°| 75-80 3:,7;5 : 50-55 | 55-60 | 60-65 65-70 | 70-75 75-80 |
Noof 113 | 18 | 45 | 16 | 6 2 Remel | 13 | 18 | 45 | 16 | 6 2
students | 2t e

1 624 1 624

2 62 @ 62 -

@) 6L4 3) 614

@ 60 @ 60 ,

15. Ina certain code language, “+> means “+’, =’ 15, B FE AW ¥ ‘4’ BT 7N &, ‘& BT WH
means X’, ‘X’ means ‘-, *-” means ‘+’. With x>, T T -, - Pl AdSd 4+, SWRIF
reference to the above code language q[E AT # dey ¥ fmfaRad &9 sl &=
consider the following three statements — foar @i —

Statement I : 5x10-15520+25+30 = 355 .W I :5x%10-15:20+25+30 =355
Statement I : 44-11+2%6+6+2-12 = 60 w1l : 44':11+2X6*6+2-12 =60
‘Which statements are true? B X PoT TG

‘(1) OnlyIand II (1) BT IR

(2) OnlyII and ITT (2) Do Il ARIO

(3) OnlylandIl 3) SPaalaiRI

4 Al Mand I @) TR I

16. Who was made the Rajpramukh (State head) = 16. & ¥ &1 INTHHE I1GT1 14T —
of Matsya Sangh?

(1) Ruler of Bharatpur (D) TR F TGS B
(2) Ruler of Dholpur 2 SRS AP Cl
(3) Ruler of Alwar (3) IR T TED Bl
(4) Ruler of Karauli @ RN B TaF Bl
17. The writer of Vansh Bhaskar is - 17. 99 ROR B OGP § -

(1) Padmanabh 1) UgHI™H
(2) Suryamal Misran (2) ghue @
(3) Karnidan (3) wiier
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18.  The total surface area of a right circular cone 18, T& THPONY T Pl ol Tﬁ’m S=Gel
is 1760 cm? and diameter of its base is 28 cm. 1760 < ¥ & Wik 3T> IR B1 g
The curved surface area of the cone is - 28900, B | ¥ B GR TS &G § —
@ 1452 cm? _ _ D 1452fl1f?§f’$[
(2} 528 cm? () 52897 @
(3) 1144 cm? 3) 1144 7 .
@ 704 cm? @ 704 9 IR
19. During 1857 revolution the ruler of Karauli 19. 1857 %ifth & F9I HYIa BT INIH o —
was - .
(1) Maharaja Bhagwan Singh g; ; ! 113?” Wﬁh‘s’
(2) Maharaja Madan Pal . TeRToi
(3) Maharaja Jaswant Singh II (3) wERN A RET
| (4) 'Maharaja Gopal Singh - (@ wERmT M R
20.  The Sanskrit Pathshala was built at Ajmerby  20. &9 =iem 9F & gRi 3OFR # WY Awpa
- which Chauhan ruler, that was later on UISHET 99118 off, SX disax Vg% 7 g
converted by Aibak mto Adhai Din Ka R P SiiTeT ARSI TTEE?
Jhonpra? - ’ :
(1) Ajayraj ' (1)  STSTRTS
(2) Armnoraj ' @ m
() Vigrahraj IV (3 T =aged
(@) Prithviraj IIT @) gHER el
21. f . dcabdcabdcab ............. =—, then the 2). 3Jfy 0.dcabdcabdca.................. B 1—:;—1-
value of 22 is: (a, b, ¢ and d are distinct ar 24 o (a,b, c 3R d T3 i
digits not a1l of them are zero) g, R 2 el I TE B)
1 2 . @ 2
2 4 2 4
@ 6 - 3 6
4 8 @ 38
22.  Kudrat Singh of Rajasthan is associated with 22, IR & Fevg Rig 59 ww@iicy @ =g
which handicrafts? . g?
(1) UstaKala . 1) ST Bl
(2) Bandhej ) =
(3) Blue Potte_ry T3 =g ofed)
{(4) Meenakari @ NTIEE
23. 'When did Vivekanand attend the Parliament 23. - fd@m= 3 ﬁIEFITﬁ T foeg %'lﬁ e § By
of the World’s religions in Chicago? 9T forT?
(1) May, 1893 @) g, 1893
- (2) July, 1893 (2 s, 1893
(3) September, 1893 3) faa=x, 1893
(4) November 1893 (4) W 1893
24. Who among the following is not called a 24. f=fofag § ¥ 59 Serad) 3ar ﬂé’f PHET
liberal leader? : ST 87
(1) Dadabhai Naorojt (1) =erag AR
(2) Gopal Krishna Gokhale (2) . T BT N
(3) Feroz Shah Mehta . (3) fRIg e J=ar
(4) Bipin Chandra Pal @) fafs asarer
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25.

26.

27.

28.

29,

30.

31.

32.

33.

34.

Which of the archacologist is not related to 25, a9 1961 & 1969 B @y & R e #

the excavation of Kalibanga made during the BRI BIAGT & Sear o |aed
period 1961 to 1969 AD? . -8l §¢ -
(1) R.C. Agrawal (1) SR INEre
(2) B.B.lal @ & T
o wreg fr ST BT mﬂw wT& gemr 87
(1) THEHIWR (2) THSH
- (@) EFan @) EFEa
o fawen % weR fadm o 78l &7
Q) S —~ ST (2) 3 — U™
(3) <R — enfely @) 3EdR — fqwe
1 4 fba AP & T we gE 87
1) Ria, st @) dFre, TR
(3) YT, AECT (@) <R, ufgl
TR & e v o1 B GArRie T aRiTa 27
(1) memorandum — VR T (2) merger— fe@d
(3) correspondence — YAFIR (4) obligatory — IEIHER
g ooy & o @1 wel WY =T 8 &7
1) fNE — afy + I (2) TICHR — HF + CHR
(3 ¥EF= — Wq + 3= @ Hbag — f + B
Choose the correct tense form — '
New cycle Toutes.......ceeeeeneee. and speed hrmts ................... on selécted routes. N
(1) has been built, has been reduced .

(2) is built, have been reduce
(3) are being built, has reduced
(4) have been built, have been reduced
Choose the correct English translation of the words Hgfte FET" - g '
(1). emoluments
(2) corroborate
(3) compulsory
(4) official decorum
Identify the correct preposition-for the blank —

If you want to go abroad you must be................ possession of a valid passport.
(1) in
@ at
(3) Dbefore
(4) through
Pick the.correct direct sentence for the following indirect sentence —

I asked him if he knew my name.

(1) 1Isaid, “Do you know iny name.”

(2) Isaid to him, “Do youknow my name?”
(3 1asked, “Did you know iny name?”

@) 1Isay, “Do you know my name?”
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35. Choose the correct passive form —
He gave over the whole programme to the reporter.
(1) The programme is given by.the reported.
(2) The reporter gives the whole programme.
(3) The reporter has given the whole programme.

(4) The whole programine was given over to a reporter.

36. Which scheme was launched by school 36. ®ifdE TEEM # oF dipesT & SN Q‘%‘éﬂ
education department of Govt. of Rajasthan &7 RIETT SUereT BRF o ORI R B
through Radio during Lockdown in Covid o REr fmr grr e S g IR, a?f
pandemic? TS ofi? Y .

(1) Jan Vani (1) 7 9o
(2) Shiksha Vani 2) Brrarh
'(3) Shiksha Darshan 3) Prr TzF
(4) Jan Darshan . 4 <9 TEE

-37.  Infollowing three cases A, B and C, the force 37. <19 & 7T a9 tlﬁﬁ‘x’Ii?Rﬁ A, B F[@IIT CH F
F is acting on object of mass m (as shown in 96l m T@AE P fivs R o) o) <@ & (B
figure). The direction of displacement is 4 Ty ogeR) | e @ 3R 9 gwi
shown by longer arrow. The work done in E'rsﬁm TR A, BN CH Eb‘l?f DAL
cases A, B and C will be respectively.

F
B e s ﬁ—» S —»{:1—»
@) ®) © @
(1) zero, negative and positivé 1. T3, AP qAT I
(2) zero, positive and negative (2) A GIRHS TR FUHD
(3) positive, zero and negative () EFTTD, P T RUIHS
@) qegétive, positive and zero 4) ZRIT™ED, PHTHS a7 b

38. Recently Indian startup Pixxel has launched 38. & &) ¥ YRAY wE—a" Roge 3, 9% @
its first fully fledged commercial sateflite WG-Tad Brep-—9 b gRa m usal -
with Musk’s SpaceX Falcon-9 rocket. What tgufam RATGATRF S9UT BT olig fhar &1 $9
is the name of the satellite? SUIE $T AT T 27

(1) Shakuntala |, 1) wgTen
{2) Damayanti (2) THI=M

(3) Draupadi (3) druar

(@) Sita @)

39. Bhadla Solar Park, the largest in the world is 39. [axg &1 we= g7 Wi (@R m‘f) % el

located in - safea & —
(1) Jodbpur O SR
(2) Badmer 2 TR
£3) Jaisalmer (3) G“‘\"I‘Gl’l}l?
(4) Bikaner 4 dHR
OB - Page 7 of 16




40. How many members can be nominated by the ~ 40. WG R IS ORI T HITSARID
State Government in the organizational set up e i NS WRPR gRI e el Bl
of Board of Secondary Education Rajasthan? =ifer fa ST T ?

n 07 ' 1y 07
2 11 @ 1
3 17 3 17
@ 27 @ 27
41. Which is not a correct match? 41. B O gt e 87

Industry Location Sl '[.E it
(1) Sodium Sulphate - Didwana (1) «iRT B - SIsa
(2) Glass- - Dholpur (2) o (@a) - iR
(3) Fertilizer - Gadhepan (@) RS - QU
(4) Water Meter - Bhiwadi 4) dfex #HieY - foarer

42. “Which of the following horméne inhibits 42. F=feRaq ¥ & I A1 WM UQT iy @
growth in plants? el &7 _

(1) Abscisic acid @ -3 e
(2) Gibberellic acid 2) foerfes s
(3) Auxin @) e

“@ Ethﬁlene (4) A=

43. The New Mineral Policy 2015, of Rajasthan  43.  TSTe P S @fier Y 2015, FEfRad
is focusing on which of the following ¥ ¥ BN ¥ el W WR A 87
aspects? A, I IOl
A.  Zero waste B. RET SUR
B. Due Safety measures C. e / T drRldarn
C. Cost effe’ctivenegs D. ST U TRE
D. Productivity and Conservation o

® ABandC () A,BSIRC
@) A CandD (2) A,C3iRD
(3) B,CandD (3) B,C3RD
@ A,B,CandD @) A,B,C3RD -

44.. First pour of concrete of Mahi Banswara 44. WISl SIS STl wEAE TR Ueiae
Rajasthan Atomic Power Project units 1 to 4 SHEAT 1 Y 4 7 USll HhIE WM [h a§
is expected in which year? F anfeg 87

(1 2023 (1) 2023

(2) 2024 (2) 2024

(3) 2025 (3) 2025

@ 2026 ) 2026
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45. Propanone is a three carbon compound with  45. WUHE tw I wEw Aife g o

the functional group - - forureTs WYE B —

(1) Carboxylic acid (1) SPrETRIeTD I
(2) Aldehyde ) UcEEs

(3) Ketone @) RN

(4) Alcohol _ - @) VPRl

46. Which of the following fype of climate isnot 46, g o ¥ o9 W Fo@y o™ 4

found in Rajasthan? S8l gt ieh 87

(1) BWhw - (1) BWhw

(2) BSKw " (2) BSKw

3) Cwg ' (3) Cwg

4) Aw : @) Aw _

47. Where in Rajasthan a lab is located to test 47." e Uiaq 9k« & -=1 &1 o @ fow &

samples of Monkey Pox Virus? : AT Yo ¥ $al wnfdg o 18 8?2
(1) Jaipur ‘ . (1) SHAR
(2) Jodhpur (2) wEge
(3) Udaipur ' . (3) SR
4 Ajmer 4) 3R
48. The functions of educational management 48. 3If¥P wded & wrEf § affaa /8 -
include/s — a. Toie AT
a Budgeting b arorEs
b. Record c. ol
c. Decision making d. o= o
d. Control Frifda famedl § @ 4 S 9 -
Choose the correct answer from options '
given below - ’
(1) . (a) and (b) (1) (@ 3R )
@ (a), (6), (c) and (d) , ) (@), (), () 3R (@)
3) (a),(c)and (d) o B3 (@), IR
@) (d)only @) dEe(dy

49. How many total meddls were won by - 49. ZRI @i IR gy @<l ¥ UoRRIM T §A-
Rajasthan is fourth Khelo India Youth o ugw S 87
Games?

1 32 (n 32
2) 34 ' 2) 34
@ 36 (3 36
@ 38 @ 38 ‘

50. What position is achieved by Rajasthaninthe 50.. ®/& & # e fby 7w dw vy <@
recently awarded third National Water REHR 2022 ¥, 99N WSl B SO H
Awards 2022, in the cafegory of best states? © RISTRIF W DI WA I BT [ 87
(1) First . M) ugenn
(2) Second : 2 T&

(3) Third : 3 I
(4) Fourth _ : @ e
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S1.

52.

53.

54.

Which of the following is not the 51, FrfoiRag § § @9 @ At widem &

characteristics of Educational Supervision?
(1) Friendly and Democratic
(2) Formal only
(3) Improvement of Teaching — learning
process
(4) Development of whole Educational
Structure
In which Schedule .of the Constitation, the
state wise allocation of Rajya Sabha seats is
mentioned? ’
(1) Fourth Schedule
(2) Eighth Schedule
(3) Tenth Schedule
(4). Third Schedule
The State Institute of Educational Research
and Training (SIERT) now RSCERT was
established on which date and year?

(1) 100¢t, 1977
(2) 11 Nov, 1978
(3) 11 Nov, 1987
(4) 10 Oct, 1987
For which work writer Asghar Wajahat has

been honoured with Vyas Samman ~ 20217
(1) Play “Mahabali”
(2) Play “Firangi Laut Aai”
(3) Play “Veergati”
(4) Play “Paak Napaak™

52.

53.

54.

55.

fodryem == @2

O Byt vd yomaite

(2). SivaRE 9=

(3) Rwmvr sferm gikar 4 guR @
@) et AT Gy o e

wide @ fa ol § o T @Y el
BT N—gR 3Nge Sfeaiad 87

(1) el SR
@) ool SR
(3) wwdl e
@ A SR
HRIM (THIAE SR, Wl 376, IR,
IR B A AT wan g b e e

T v At g8 o

(1) 100Oct, 1977
(2) ‘11 Nov, 1978

(3) 11 Nov, 1987

(4 10Oct, 1987
5 w1 & ol oRas TR IoTEd & &g
A 2021 ¥ SIS fam v 87

(1) eF “HEEl”

@) eF e die e

@) -EF AR

@ ¥cF “uP Tae”

IREE. t=w 206925r AR 4 59 &m

L

55. Chapter 4 of RTE Act 2009 is related with
which area? ¥ wEia 87

(1) Duities of Appropriate Goverament, ) RT TWoR, ®IFY WREN &R
Local Authority and Parents Orar e & $53

(2) Responsibilities of Schools and @ ek ﬁm ® TERERT
Teachets . B) TPt P ARBR BT G

(3,? Prottfctlon of Right of children : @) TR RET @ T 2R TGHT

(4) Curriculum of Elementary s S
Education and its completion '
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56. What is ‘urban and rural population 56. 2011 ﬁ S B IER, USg B G
percentage to the total state population, as per- ST TS 9 IR e # Fﬂ%‘ﬂﬁ
census 2011 respectively? AT %’-‘ﬂ_ 27

® 249%-751% (N 249 %-75:1%
2 294%-71.5% ) 294%-71.5%
(3 429%-51.7% 3) 429 %'-51.7%
@) 292 %-70.1% 4 292%-70.1%

57. Which of the following was not the 57. ‘&< sMRGicT B FaIME T@e (SIQE)
presctibed role and ‘responsibilities of HRpA © dOsd OEeiRag ¥ W oNEn
S.I.E.R__T_ under §tate Initiative For, Quality T, :m_sc_&; ARE. T Biw a7 & TI'&‘ T @
Education (SIQE)’ programme? o2

(1) To ensure and monitor. participation (SIRY et ]
~of governmerit functionaries. (1), oTHE URTRSIRG] B AN B
© (2) To ensure active participation of ‘gﬁfﬁi{ﬁ T NG BT
DIETs. and enhance their capacity in () sEcH B arher) o '\jﬁfﬁﬂﬁ FET
implementation of the. programme . ; ; EE . ‘
activities. ‘ ﬁeﬂ . Ed g HRA
(3 To provide technical support for H BIHT LT T FRAT|
effective implementation of (3 WA BRERFAT B AN B ABADT _
. programme. . HERIAT UG FRAT[ - :
(4) Regular review of the academic @) el Pas o Rt gt
inputs. ' ‘ ]

58. Match List-I with List-Il and select the 58. gA-1 &1 e @0 @ Sifig ok R
correct answer by using the code given below. % s faw g |e d 9 w8 SR & 9T
the lists — g a?rﬁ;rq B ‘

| List-I . List—II .- = -1
(A) Kamataka (i) - 25 Lok Sabha (A) ®ed @) 25 A W
' ‘ _ Seats ) E]
(B) " Andhra (i) 26 Lok Sabha (B) W WRW (i) 26 WH W
Pradesh Seats - &=
(C) Gujarat . (iii) 21 Lok Sabha (C©) TSR (i) 21 <P WA
Seats. - &=
D) Odisha  (iv) 28 Lok Sabha D) @ Gv) 28 @ wW
‘Seats a5
Code: - Toh
A B ¢Cc D A B C D
(D oL by O i i i i
< S~ @ v i @ i
Q) moooror o @) v i i
(4) v m 1 1 (4) iv
59. What is ‘Agni-4’ which was recently tested 59. | ‘T 4' 11 ¥ ﬁl‘ﬂﬁf TE»’IF!’ | f{ RA A
by India? ' " e farar 2
(1) Inter-mediate Range Ballistic Missile (D) sXERAE ¥ Sfaies fmga
(2) Next Generation Corvett (2) RS WREM PRAC
(3) Anti-Submarine Missile @) T T P
(4 Inter-Continental Ballistic Missile (@) =X sifcaea oy e
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60. In which areas of Rajasthan, star sand dunes. 60.
are found? 98 9 87 .
(1) Mohangath area (Jaisalmer) & (1) WETTE & (SFerR) U9 RS &
Suratgarh area (Ganganagar) (IFR) y
(2) Sardarshahar area (Churu) & (2 UCERIN &3 (T8) V4 J9Ed) aF
Shekhawati area (Sikar) GIER)
(3) Siwanaarea (Barmer) & Phalodi area &) ﬁﬁﬂ?ﬁ\ g9 (q$R) U4 welldl &9
(Jodhpur) (aﬁug?)
(4) Mohangarh area (Jaisalmer) & @) FETG & (SHeRR) UF Hlerndd &8
Kolayat area (Bikaner) (gﬁq,—[er\r) '
61. At present how many ‘DIETs’ are available 61, oIl o9 H 994 # &l ‘S8 Suaial
in State of Rajasthan? _ -4 '
(1) 30 1 30
2) 31 @) 31
3 32 : (3 32
@) 33 @ 3
62. Who according to the following is the 62, THiIREd & SR, 9RG WO & UJE .
Principal Account Advisor to the AT GAEHR DI &7
Government of India?
(1) Comptroller and Auditor General of (1) ¥R & FEaF &R AerrE wWaw
India @) fe smEm
(2) Finance Comumnission (3 = R
" (3) Department of Expenditure , o
(4) Controller General of Accounts @ < A
63. Which of the following is not a Biosphere 63. fw=ifafyd 4 < P Gl ARG BT TEEHRR
Reserve of India? e =81 87
(1) Pachmarhi L)
(2} Kachchh (2) T
{(3) Pamna 3 =
(4) Valley of flowers @) e @ T
64. Which conipany has commissioned India’s 64. ¥ FT 7 YRA BT U 390 THIGY, BT
first Wind Solar Hybrid Power Plant of 99 OR TR UR e bR ¥ ¥
390 MW in Jaisalmer? fopam 27
(1) Reliance Power Limited (1) Rearg e fafics
(2) Suzlon Energy @) ﬁﬁ?ﬁ’f Tl
(3) Tata Power Co. Ltd (3) < IR @, o
(4) AHEJOL, a subsidiary of Adani @) qqas‘@rafrqa g e
Green Energy limited Rfte @ TEEE BN
65. Which of the following river is having the 65. f=foiRag § & FF W T TR # @ad
largest river basin area in Rajasthan? ST Tl IR &3 Ted &7
(1) Chambal 1 T
(2) Lunt 2) Q—,ﬁ
(3) Banas (3) I
(4) Mahi @ &
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66. As per the census 2011, which district of 66. TEEET 2011 & AR, ISR & &9 .
Rajasthan has highest sex ratio? el # ol waifeew 87
(1) Rajsamand (1) o
(2) Pali (2) Ul
(3) Dungarpur (3) TRE
(4) Pratapgarh @) AT,

67. Which of the following statement about the 67. WRT & U P FenfeR wfdg & IR F
veto power of the President -of India is Fre=fafag & 9 & 91 S+ T 27
incorrect? - (1) ~ufd o awRifUET gRT TRa

(1) The President can disallow such bills T RSt &1 AT o & SR
passed by the State Legislature as are BY Hehdl & Uil USHUTT ERT SO
-reserved by the State Governor. 7 AR @ oy s v T ¥

(2). The President may also direct the 2 Wi W fdgel @ oy
Governor to return the bill to the IS §RT YAfdaR 33 & forg
State Legislature for reconsideration. NTogael i R B el 7 |

) (3) If the State Legislature returns the 3 Al TSy D 98gE B a9
' bill to the President, the latter has no Wﬁ[ & TN A ¥ S 9

option but to sign it. ‘ faerre Gﬂmﬁﬁ T P I

(4) - The power of direct disallowance of wre fwer T ® SIr &l
a bill passed by the State Legislature @) T T gRTtITﬁﬁ fosas a1
will be virtually available to the - -

. I BT SRINTSA ISUTeT B ARTH
President through the Governor. N T B R

68. Which of the following statemient is 68. F=fRRyT & ¥ oW O ooF o & <9
incorrect, when calcium oxide reacts with Hifeeraw sifaEs oo & ey AT e
water? . ' a7

(1) It produces slaked lime. (1) 95 925U I BT i b §
(2) Itreleases a large amount of heat. ) soH AfE a=r ¥ HE SO~ Bkl
(3 It is an example -of decomposition ‘%;l

reaction. 3) gg T fqare afifhar o1 e

(4) The coefficients of calcium oxidé, | .
water and product formed is 1 in @) “Evlgiflfi Tl Itaﬁ-\r” WW#E%%?IW
balanced chemical equation. Yy 7S Srel S I SIS B T

69. In May 2022, Ramgarh Vishdhari Sanctuary 69. ¥ 2022 #, <™ve fawel spaRvg &7 e
has been converted into a tiger reserve. This ergR Rord § uRaffa == R o &1 7=
sanctuary is located in which district of IR ISR B g el § Rerg 27
Rajasthan?

(1) Sawai Madhopur @) W W

(2) Karanli @ e

(3) Bundi @ =

(4) Kota @ P
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70.

71.

72.

73.

As per the 20" Livestock Census of
Rajasthan 2019, maximum sheep are found
in -

(1) Alwar

(2) Barmer

(3) Bikaner,

(4 -Ganganagar
Among the following which is not a World
Heritage Site?

(1) Gagron Fort

(2) Walled City of Jaipar

(3) Kumbhalgarh

(4) Haldighati
Match the following and select the correct

T

answer from code given below —

List -1 List ~ IT
(Industry) ' (Location)
(A) Leyland Truck (i) Tonk
Factory :
(B) Instrumentation (ii) Alwar
limited
(C) State Tanneries (i) Kota
Limited '
(D) Rajasthan (iv)  Dholpur
Explosives &
Chemicals Litd.
Code:
A B C D
@ i iii v "’ i ,
2) iii ii i iv
3 i ii iii iv
@ i iii i iv

Which of the following is mnot the
characteristics of Democratic leadership?
(1) It's governed by the altruistic motive,
work without expectation of reward.

(2) “Welfare of another people” is its
.main goal.

(3) The democratic leader serves as
‘master’” ‘of the group rathar than its
‘agent’.

(4) The democratic leader carries out
decisions and secures actions by
indirect suggestion and setting
example,

70.

71.

72.

73.

{

ORI #2019 H 204 UPEE TOFT B
IR, TP ¥S g SRl € —

(1) 3R A
(2 TIERF
3) TR H
@ IR H
fr=feRad § 9 @19 91 U 939 oRER R«
TE &7
1) TR e
(2) TRIYR Pl GRDICT TN
(3) PGS
@ TS
ﬁw@r@aaﬁ—gﬁﬁaﬁmw:ﬁaﬁqm
o # 9 |d S ghE —
& -1 o -1
(GEIL)) (srafRerfa)
(A) RIS TH G <&
v q}q-_ﬂ '
(B) LA () SR

fafies
(€©) V< NG (i) Prer
fofies
(D) TSR (v) iR
URRIIINeT §Us
Bfped A
32\?’:
A B C D
M i iii iv i
() i ii i iv
B i it iii iv
4 i ii
frafefag 4 & o9 <@ u\—rnﬁﬁ%rcﬁ ﬁ?ﬁf 'cr%
e T8t 87 .
(1) I8 WRuUsK Seeg aen for foh
QBN PI reral § Wi 2ri E |
(2) "3 AR BT HT THDT G
T T

@) IONIES T/ WE P oW B 9
¥J@ e € 7 % par @ w9 |

@ USIIE SAT A WeE 3K WY
TSR T B ot @Y e
TR B B GERET PRa E
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74. In exercise of the power conferred by sub- 74.
Section (1) of Section 29 of the Right of EFTA 2009 o &RT 29 BT SU-uNT (1)
Children to Free and Compulsory Education ERT WS UfREl & WM R g q‘;ar
Act 2009, theCentral Government authorise PR ERT 5 Ty & TRt REn$ o
which institute to lay down the curriculum TrTEET Ge T m iR < %_g.
‘and evaluation procedure for elementary GTEITH Ry T 9T
education?
1) NCTE. O LA E
(2) N.CERT. . (2) 9L g SR AL
(3) N.IEP.A. @) ‘W W
@ NIO.S. @ . oend e ga
75. Which of the %oﬂowing statement/s about the 75. T ® o7 P IR § foRag § &
composition of the House of People is/are P I /| P ‘\q‘E?r.% /87 i Ry ae
tme?\ Identify the correct answer from the ¥ 3 g8 SN BT g9 qﬁ‘ﬁrq —
code given below — A. AND AT B IRNBTH AT HEAT 552
A. The maximum stre?gth of the House 2 B 2|
of the People can be 552. N )
B. At present the strength of the House B e TP W B A W 542
of the People can be 542. ’ gl
C.  The House of the People cannot have C. < o ¥ Isgl ¥ el B gem
- more than 530 members from the 530 ¥ aifdE & & '\EIEchﬁ 21
states. : D. it w3 ol &t @ W 131
D. There are 131 seats reserved in the ' ‘
House of thé People: 83. for the & : 83 gNgfar Sl & ferg ol 48
Scheduled Castes and 48 for the YT SRl @ g |
Scheduled Tribes. ‘ e
Code: 1) FTTAGE R
(1) Only A is true @) SqeBaR C o9 E
@ ony AmiCe i 0 dmadtcunt
(fl) Only A and D are true @ W AIRD Wi e
OB -
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